6.5 Part I

How do I find the zeros for a polynomial function if I can’t factor it?








Example




 Your Turn







f(x) = 2x3 + 3x2 – 8x + 3


  f(x) = 5x3 - 24x2 + 41x - 20










         






***






          


















6.5 Part II

How do I find the zeros for a polynomial function if I can’t factor it?









Example




  Your Turn






        f(x) =  x4 - 3x3 – 6x2 + 12x + 8


f(x) = 2x4 – 2x3 + 2x2 – 6x - 12











         






***







          












1st Find all the factors of the constant and the leading coefficient.  (p / q)





2nd Reduce your p/q list so that all fractions are simplified.  Remember to write +/-





3rd Using synthetic division, find one solution to the problem from your p/q list.





4th Write your answer as a quadratic equation = 0.





5th Solve your quadratic equation by either:


(a) factoring 


(b) taking the square roots 


(c) quadratic formula 





6th Write down all of your solutions.  





1st Find all the factors of the constant and of the leading coefficient.  (p / q)





2nd Reduce your p/q list so that all fractions are simplified.  Remember to write +/-





3rd Using synthetic division, find THE FIRST solution to the problem from your list of possibilities.





4th REPEAT this process with another solution so you get a quadratic eq.





5th Solve your quadratic equation by either:


(a) factoring 


(b) taking the square roots 


(c) quadratic formula 








6th Write down all of your solutions.  








